SN74LV4046A

TO to T1: Same Phase(Frequency A) TO
T1 to T2: Different Phase .

T1 T2 T3
T2 to T3: Same Phase(Frequency B) : i :

CH2: SIG_IN

High impedance

M 20.0ns A

I 49.80 %

. Higﬁ impédance ..
CH4: PC2 OUT COMP_IN rising edge to
- SIG_IN rising edge is about 10ns.
Ch1 5.00V M10.0us A Chl & 1.90V .
High(VCC) Is this correct?
i 50.40%
Chi_ 5.00V M20.0ns A Chl £ 1 !n .
520800 S 150V Expected output

High(VCC)

I High Impedance
TO' to T1': Same Phase(Frequency A) TO’ T1’ T2’ Low(GND)

T1' to T2': Same Phase(Frequency B) : : :

CH2: SIG_IN

High impedance

Chl 5.00V M 20.0ns A
1 50.20

CH4: PC2 OUT High impedance

- COMP_IN rising edge to

SIG_IN rising edge is about 10ns.

Ch1 5.00V M10.0us A Chl £ 1.50V

i 50.20 %

High impedance

Chil_5.00V M20.0ns A Chl 5 150V
B S 130V
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